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10121 |RFYV K / BEBTHAY 380,000 430,000
10121 -G |RTY K G(FAY) / EETHAY 680,000 830,000
1012.1 -S3 [RFY B S3(HAY) / EETH A 1,280,000 1,630,000
1012.1 -SP |RT7Y B SP(H#AY)/ BB TH A 2,080,000] 2,530,000
. 1012.8 :i:—)I/F‘ K/ E%-‘r“ﬂ“zry . 1,350,000 1,850,000
1012.8 -G [d—ILK KB GEAY) / EBTH AV 1,650,000 2,250,000
1012.8 -S3 |[9—ILK & S3/ EBETHA> 2,250,000] 3,050,000
10128 -SP [F—/LK & SP/ BB THAY 3,050,000] 3,950,000
UEJ 10121 |RFY B / A—RLTHFAUE/4¥)L 400,000 400,000
% 10128  |F—ILK K / A—NILTHAUE1YIL 1,350,000 1,350,000
2 11241 |RATY B (BEAYVILTHAY) 485,000 530,000
" 11241 |RATY B (HEAVILTHIY) 485,000 530,000
11241 -S1 [RFY B #A¥SIEHTAVILTHAY) 885,000 930,000
11241 -S3 [RFY B #AVSIEHFAVILTHAY) 1,535,000 1,730,000
TaATIWEAL TATAR| 11241 -SP |RTY B ZAYSPHLAVILTHAY) 2,385,000 2,630,000
11248 |TF—ILK B HFAVILTHAY) 1,750,000f 1,950,000
11248 -S1 |3—ILK & ZAVSIFHFAVILTHAY) —| 2,350,000
11248 -S3 [F—ILK & FAVSIHFTAVILTHAY) —| 3,150,000
11248 -SP |9—ILF B #A¥SPHAAYILTHAY) —| 4,050,000
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